
Desert Fiber Arts Mystery Shawl Knit-Along  

Clue 3 

 

If you have more or less than 91 stitches you can increase or decrease them during the next 2 

rows to get the desired 176 stitches.  

Notes 

 All even rows are purl, unless otherwise stated, except double YO-s, where first yo is purl 

stitch and the second yo knit stitch. 

 Knit Chart 3A 3 times.  

 

Now start at WS, from where you finished the cast off of the Clue 2, as following: sl1pw, k to the 

end.  

Next row (RS): sl1pw, k 2, *knit in front and back of stitch *; repeat * to * at 84 times, k 3. (176 st) 

Next row (WS): sl1pw, k 2, p 170, k 3.  

Now you have 176 stitches on your needle.  
 

Next row: sl1pw, k 2, start with Chart 3A 1st row, there are 17 repeats, k 3. Continue with chart 3A.  


Chart 3A Rows 

          11 23 35 
          9 21 33 
          7 19 31 
          5 17 29 
          3 15 27 
          1 13 25 

 

After you finished row 36 go on with Chart 3B.  

On rows 49-59 pattern Shaded Stitches there are 17 repeats then knit the left stitches before edge 

stitches. 


Chart 3B Rows 

              59 
              57 
              55 
              53 
              51 
              49 
              47 
              45 
              43 
              41 
              39 
              37 

 

After completing Row 60 (WS) there are 211 stitches on your needles. Don’t worry if your 
count is off, you can increase or decrease on Row 61 and 62. 
Row 61: sl1pw, k to the end;  

Row 62 (WS): sl1pw, k to the end; 

Row 63: sl1pw, k 2; [(yo, k 1) 8 times, (yo, k2tog) 2 times], the part between [ ] have to be knitted 17 

times; yo, k2tog, k 2.  

Row 64 (WS): sl1pw, k 346.  After completing Row 64 there are 347 stitches on your needles.  

Again don’t worry if your count is off. You can fix it in the first rows of Clue 4. 

Symbol Description 
 Knit 
 Yarn Over 
 SSK 
 K2Tog 


